n(11:= LS
Gs
td

2072 % Cs;
Rs *Cs / Ls;
X % Sqrt[Ls »Cs];

gam = Sqrt[ (Rs+p*Ls) » (Gs+p*xCs)];
Tp = (Z2 x Cosh[gam* (1 -x)] +Z0 x Sinh[gam* (1 -x)]1) / ((Z1 +
Z2) % Cosh[gam x 1] + (Z@ + Z1 x Z2 / ZO) » Sinh[gam x 1]) // TrigToExp // Simplify;
lap = FullSimplify[1/p » Tp, Assumptions -» {Z0 >0, tr >0, (Rs+p=*Cs*Z20°2) >0}] /. {Z1 » Z0};
InverselLaplaceTransform[lap, p, t]

ua[t_] := InverselLaplaceTransform[lap, p, t]

ouri7- ©.493481 HeavisideTheta|-5.05249 x 107 + t |

nio}= 2@ = 503 Z2 = 50; Cs = 101.049872x"-12; Rs = 6.56167979%"-3; 1 = 100; x = 100; tr = 1x"-7;

nzo= Plot[ua[t], {t, @, 5% td}, GridLines - Automatic]
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